
 2260 HOMEWORK #10 probs 1 and 2 solution
F 10

EX:

–
+

+ –v1(t)

R1

R2

v0(t)

+

–

� 

vs = 12 V� 

C = 100 pF� 

L = 5 nH

+
–

t = 0 a

 b

After being in position a for a long time, the switch moves to position b at time t
= 0.

a) Find a symbolic expression for the Laplace-transformed output, Vo(s), in terms
of not more than R1, R2, L, C, and values of sources or constants.

b) Choose a numerical value for R1 to make

� 

v1(t) = vme
−αt[cos(βt) − sin(βt)]

where vm, α, and β are real-valued constants.

Hint:  R1 behaves as though it is in parallel with L and C.

Hint:  s = s + α – α.








